CHMI51 Qu1z@25 Pts Fall 2005 Name: K v

Show work to reteive credit. Conversion factors: cL(ntl (c) =102, milli (m) = 10, micro (w) = 10, nano (n)
107, pico (p) = 102, kilo (k) = 10, 2.54 cm = 1 inch, 12 inches = | ft, 5280 ft = 1 mlle 60 s = 1 min, 60 min

=1 hr.
1. (4 Ptg) Of the following, is the greatest ﬁass 4 22 X0
Ci)vleosmg Y,0 X109 X)0 = Y -
D) 6.83 x 107 mg /)(9 11} ? % £,82%X10 xto = C.82X gc
¢)9.73 x 10’ 9,73 x 107 X70 ™ 73> " -2 -2 -
d)7.73 x 10° prio £~ ;' 7 73)</o X /o (7—»7;7?“, Sﬁ
423x10°pg 4,272 X)O° x/o z Y a3x0 7
=
2.(3 Pts) How many centimeters are in 430 picometers? -|D
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3. 13 Pts) The density of silver is 10.5 g/cm™. What volume (in cm® ) would be occupied by a piece of silver
with a mass of 61.3 g?

6l.3 T = 5.835’%3
0.5 -

4. (3 Pts) Assume each of the following numbers are measurements. Perform the indicated calculations and
report the answer to the proper number of significant figures.
{3.15x 1.06) + 21 x 1.773) =

Y 1
3,339 ¢ 32,223 74_&
T5e) =

5. (4 Pts) A cube of an unknown metal measures 1.61 mm on one side. The mass of the cube is 36 mg. Which
of the following is most likely the unknown metal? Support your answer wijth calculations.
metal density g/crrg, V= ,Q etp” k)
rhodium 12.4 LMoy -3 )
cb e m) C

copper 8.96 - — 3
piinam o) T 00070,
vanadium 6.11 /
zirconum  6.51 106l M m 3 C x )0~ j'L__’_/ = g gQ,i
D= [0.009170w

7. (4 Pts) An ore sample contains 0.37% gold and 1.25% silver. How many mg of silver can be recovered from

14.0 kg of ore?
4.0 x10°g FE) 125 Ay | I o0
= oo o T 120 A
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Show work to receive credit. Conversion factors: centi (¢) =107 milli (m) = 10, micro () = , hano (n)
=10" , pico (p) = 10° 12 kilo (k) = 10%,2.54 cm = 1 inch, 12 inches = 1 ft, 5280 ft = 1 mlle 60s= 1 min, 60 min
=1 hr.

1. (4 Pts) Of the following. E’, is the greatest mass.

Na)4.23 x 10° pg 23 x10¢ =1, = ¢a3X /0 -g
ACMFOU’JS b)7.73 x 10 moL/ 3 X10% %10 il }??JXIO ;_—

f_\_/\ ) 6.83 x 10° mg ggg X /)0~ & 9, ) .-»-f—“*‘“‘—'—s e

d)973x10 pg -3
?,73 X072 g 7&21”0 2 _/_)

2.4 Pws) 65m/s=__ km/hr?

5 m| R 30008 = 4 34 km
/S///ng hr hr

3. (3 Pts) The density of silver is 10.5 g/cm™. What volume (in cm® ) would be occupied by a piece of silver
with a mass of 91.3 g7

A3y] em’ S em
7 //o.% T —

4. (3 Pts) Assume each of the following numbers are measurements. Perform the indicated calculations and
report the answer to the proper number of significant figures.

(gh\106+(71x1773) - 3, 339
3 3’% 37 233 = 27,2373

e

5. (4 Pts) A cube of an unknown metal measures 1.61 mm on one side. The mass of the cube is 36 mg. Which

R

of the following is most likely the un 1?7 Support your answer with calculations.
metal density g/cm,
rhodium 124 /7\‘ K&/ S
copper 8.96
(_niobrum 8.57
vanadium 6.11
zirconium 6.51

6. (3 Pts) How many centimeters are in 630 picometers?

—)o
C3oxlo " | C = (36Xx/0 &DGM\
[ o ~% (£ (.3 xo cm

. (4 Pts) An ore sample contains 0.37% gold and 1.25% silver. How many mg of gold can be recovered from
24.0 kg of ore?

&L/O/%gy@/o 37Au« /W\ = 5900 M9 /}%
(/ooape:jg ) -




